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s o these compounds i most likely to be covalent?










udct the effect of increasing temperature on Kc
01 500) = no(g) 4 6h0ig) AH <0










- Qg ST ol an

¢ radiation that has a frequency of 6.912 X 10'°s'?

What is the wavelength o
4.3490 nm
1.447 % 10°*® nm
2.074 x 10 nm

2.304 = 10° nm




One liter of an aqueous solution contains
concentration Is
5.250 mole per liter
2.5x10 4 mole per liter

1.505 x 10?° mole per liter

0.025 mole per liter

1.505x 1

Final exam

02° H2O" ions. Therefore, its HxO" o




One liter of an aqueous solution contains
concentration Is
5.250 mole per liter
2.5x10 4 mole per liter

1.505 x 10?° mole per liter

0.025 mole per liter

1.505x 1

Final exam

02° H2O" ions. Therefore, its HxO" o




Diamagnetic substance

) Halogens group

None of the above

Contain ngt unpaired electrons in the outermost subsl

Do not contain net unpaired electrons (all electrons are paired) in the o




02 x107 atoms of sulfur (8)?

How many moles of sulfur are in 6

1x10""*"mole
1x10"*mole
1x10"“mole

1000000 mole




A(g) + B(g) +— C(qg)

Depend on reaction time
NO cotrect answer

Increase

May be increase or decrease

aliw¥ pavie < U Jigaull

- How would the value of Kc change with an addition




(S)?

02 x107 atoms of sulfur

How many moles of sulfur are in ©

O 1x10"*mole
O 1\][‘!“‘”|“h-
1x10"“"mole

1000000 mole




following reactihon

AH <0

; temperature on the

PASINK

E4NO(g) + 6H20(g)

heonsed to King Abdul Aziz University
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- Qg ST ol an

¢ radiation that has a frequency of 6.912 X 10'°s'?

What is the wavelength o
4.3490 nm
1.447 % 10°*® nm
2.074 x 10 nm

2.304 = 10° nm
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.- A?me that the reaction below is at equilibrium.

A(g9) + B(g) == ((g)

Howwouldthovabeochd\angoM&\anaddidon

Depend on reaction time
No correct answer
Increase

May be increase or decrease

3 / al Wl aaaie

~ '19 18 17

%’23 P2 21/ 20
¥ 28 27 26 135
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Which element has the following ground-state electron configuration |Kr) Ss




02 x107 atoms of sulfur (8)?

How many moles of sulfur are in 6

1x10""*"mole
1x10"*mole
1x10"“mole

1000000 mole




CeH1206

position by mass of O Iin

Calculate the percent com

o 6.71%

O 35.67%
53.28%
40.00%




An object has a mass of 4x<10”7 g and volume of 4.6 mL. Its density

8.7x10° g/mL
8.7x107 g/mL
8.7x10° g/mL

8.7x10° g/mL




Predict the effect of increasing pressure (decreasing volume) on the following reactions
CO (g) + 2 Hz (g) =—= CH3OH (9)

goes right
no effect
NO correct answe

goes left
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Diamagnetic substance

) Halogens group

None of the above

Contain ngt unpaired electrons in the outermost subsl

Do not contain net unpaired electrons (all electrons are paired) in the o
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— An object has a mass of 4x107 g and volume of 4.6 mL. Its density 1S
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yme for Mg(OH )2 Is

3 of 44 The correct ni
magnesium hydrogen xide
magnesiun iral
magnesiu w Iche

magnesinu nvadroxid




: th the gas
What volume w




